# **BOARD OF COUNTY COMMISSIONERS**



# NOTICE OF AWARD – ANNUAL BID NO. 2022029 Annual Bid for Right-of-Way Mowing (Section 4 and 5)

Kerner Environmental

Attn: Mr. Ian Kerner

783 NW Spruce Ridge Drive
Stuart, FL 34994
ian@kernerenvironmental.com

The Indian River County Board of County Commissioners is hereby awarding the above referenced Bid as follows:

#### **TERMS AND CONDITIONS**

# 1. Acceptance:

This award is our acceptance of your offer in response to our Invitation to <u>Bid No. Annual Bid for Right-of-Way Mowing (Section 4 and 5)</u> at the prices attached. The Board at their meeting on February 8, 2022 approved the award of this bid.

## 2. Term of Award:

- A. This is a one (1) year award for the time period specified herein, during which the County may order products / services covered by this award as the requirements demand and the vendor shall deliver the services / products. The County is not obligated to purchase any minimum amount of services.
- B. This award becomes effective *February 8, 2022* and shall remain in effect through *February 7, 2023*.
- C. This award may be renewed, by mutual agreement, for two (2) additional **ONE (1) YEAR** periods up to a cumulative total of **THREE (3) YEARS** at the same prices, terms and conditions. Any change in price, terms or conditions shall be accomplished by written amendment to this award with final approval requiring Board action.
- D. The vendor, for good cause, upon ninety- (90) days prior written notice may cancel this award. The County retains the right to cancel this award, with or without good cause, upon thirty- (30) days prior written notice.
- E. Ordering against award:

## Please provide as soon as possible by email, fax or mail:

 Certificate of Liability Insurance must name Indian River County as an additional insured and must provide for a 30-day Notice of Cancellation. Proof of E-Verify Enrollment.

**After receipt of the above**, a Blanket Purchase Order will be issued to you and work under this contract may begin.

The Board of County Commissioners, subject to need and availability of funds lawfully appropriates the obligations of Indian River County under this award for its purpose.

3. Taxes:

The County has the following Tax Exemption Certificates assigned.

- A. Certificate of Registry No. 59-6000674 for tax-free transactions under Chapter 32, Internal Revenue Code.
- B. Florida Sales and Use Tax Exemption Certificate No. 85-8012622034C-3.
- 4. Invoices shall be submitted, in duplicate, referencing the Bid number and the Blanket Purchase Order Number to:

Indian River County Finance Department 1800 27<sup>th</sup> Street Vero Beach, FL 32960 finance@ircgov.com

Invoices against this award are authorized only at the prices stated in your bid response.

Board of County Commissioners Indian River County, Florida By

Jennifer Hyde, Manager

Purchasing Division

**February 8, 2022** 

Date



Form

Annual Right-of-Way Mow	/ing
-------------------------	------

Bid #:

2022029

Bid Opening Date and Time:

January 14, 2022

2:00 P.M.

**Bid Opening Location:** 

Purchasing Division 1800 27<sup>th</sup> Street

Vero Beach, FL 32960

The following addenda are hereby acknowledged:

Addendum Number	Date

In accordance with all terms, conditions, specifications, aerial images, and requirements of this document, <u>as well as having physically inspected the applicable areas to be mowed</u>, the Bidder offers the **following (Mark** 

"NB" for sections you are not submitting a bid for):

Section 1 – Oslo Road, 27 <sup>th</sup> Ave and 27 <sup>th</sup> Ave SW (must bid both Areas)	Per cut price	Quantity	Total Annual Bid (per cut x quantity)
A. All Oslo Road Areas	\$ 1,650	24	\$ 39,600
B. All 27 <sup>th</sup> Avenue/27 <sup>th</sup> Ave SW Areas	\$ 1,650	24	\$ 39,600
Total Annual	Bid for Section 1 (s	sum of A and B)	\$ 79,200
Section 2 – 58 <sup>th</sup> Avenue	Per cut price	Quantity	Total Annual Bid (per cut x quantity)
A. All 58 <sup>th</sup> Avenue Areas	\$ 1,980	24	\$ 47,520
Section 3 – 66 <sup>th</sup> Avenue	Per cut price	Quantity	Total Annual Bid (per cut x quantity)
A. All 66th Avenue Areas	\$ 1,815	24	\$ 43,560
Section 4 – Vero Lake Estates and SR-60 (must bid all three areas)	Per cut price	Quantity	Total Annual Bid (per cut x quantity)
A. All Vero Lake Estates Areas	\$ 660	24	\$ 15,840
B. All SR-60 Median Areas	\$ 825	24	\$ 19,800
C. All SR-60 Right-of Way Areas	\$ 1,320	12	\$ 15,840
Total Annual Bio	for Section 4 (Sum	of A, B, and C)	\$ 51,480



Section 5 – North U.S. 1	Per cut price	Quantity	Total Annual Bid (per cut x quantity)
A. All North U.S. 1 Areas	\$ 1,980	24	\$ 47,520
Section 6 – South U.S. 1	Per cut price	Quantity	Total Annual Bid (per cut x quantity)
A. All South U.S. 1 Areas	\$ 1,485	24	\$ 35,640

The undersigned hereby certifies that they have read and understand the contents of this solicitation, has physically examined the areas to be mowed, and agree to furnish at the prices shown any or all of the items above, subject to all instructions, conditions, specifications, and attachments hereto. Failure to have read all the provisions of this solicitation or visit the sites shall not be cause to alter any resulting contract or request additional compensation.

Company Name: Kerner LLC DBA Kerner Environr	nental
Company Address: 783 NW Spruce Ridge Dr	
City, State Stuart, FL.	Zip Code34994
Telephone: _772-260-8415	Fax:
E-mail: _lan@kernerenvironmental.com, billy@ker	nerenvironmental.com
Business Tax Receipt Number: <u>807-21-00096083</u>	FEIN Number: 81-1953827
Authorized Signature:	Date: 1-13.02
Name: Ian Kerner	Title: Owner
(Type / Printed)	· · · · · · · · · · · · · · · · · · ·